*Appendix B: Do File ~ Quick Examples of HYS Data Analysis in STATA

*The following "do file" runs through examples in the Technical Assistance /// manual Chapter 6: Data Analysis - Quick Examples section 

*This do file is written for use with Stata 9 ///

To use this with prior Stata versions, use the do file drop down menu /// 

and select Search then Replace and remove all of the colons “:”

*Select the proper set up according to your data, to replicate the ///  results in the manual – use the 2008 state sample dataset

*To run a line of command highlight the command text and hit the icon /// 

 above that looks like a page with text on it 

*Instructions for this file are preceded by an asterisk, they are just ///

 informational. Actual stata commands are indented and don’t have an asterisk

*The commands and instructions presented here are suggestions and only ///

 one method in which Stata can be used to analyze survey data

*===============================================================================

*Open your 2008 dataset

*===============================================================================

clear

set mem 100m

*use file pathway name

*===============================================================================

*Set up commands

*===============================================================================

*select the appropriate set up for the data you are running. 

*insert the county number for x, in conum==x

*use schgnoid instead of schgrd if your dataset does not include schgrd 

*-------------------------------------------------------------------------------

*STATE SAMPLE


gen fakewt=1


svyset [pweight=fakewt], psu(schgrd)


keep if staterec==1

*-------------------------------------------------------------------------------

*STATE CENSUS


gen fakewt=1


svyset [pweight=fakewt]

*-------------------------------------------------------------------------------

*For COUNTY level set up, you need to replace the "x" with the proper county number

*ANALYSIS of a COUNTY with a CENSUS in 2008 

*Adams, Asotin, Benton, Chelan, Clallam, Columbia, Cowlitz, Douglas, ///  
Ferry, Franklin, Garfield, Grant, Grays Harbor, Island, Jefferson,  Kitsap, /// Kittitas,  Klickitat, Lewis, Lincoln, Mason, Okanogan, Pacific, Pend Oreille, ///   San Juan, Skagit, Skamania, Stevens, Wahkiakum, Walla Walla, Whatcom, Whitman, /// Yakima

keep if conum==x


keep if corec==1


gen fakewt=1


svyset [pweight=fakewt]

*-------------------------------------------------------------------------------

*Analysis of a COUNTY with a COUNTY SAMPLE in 2008 

*King, Pierce, Snohomish, Clark 6th and 8th grade, Thurston and Spokane 6th grade 


keep if conum==X


keep if corec==1


gen fakewt=1


svyset [pweight=fakewt], psu(schgrd) 

*-------------------------------------------------------------------------------

*ANALYSIS of a COUNTY with both SAMPLE and CENSUS in 2008

*Clark, Spokane and Thurston

  *Clark

keep if conum==6


keep if corec==1


gen fakewt=1


gen psu=schoolid +10000


replace psu=schgrd if (grade==6 | grade==8)


svyset [pweight=fakewt], psu(psu)

  *Spokane

keep if conum==32


keep if corec==1


gen fakewt=1


gen psu=schoolid +10000


replace psu=schgrd if grade==6


svyset [pweight=fakewt], psu(psu)

  *Thurston

keep if conum==6


keep if corec==1


gen fakewt=1


gen psu=schoolid +10000


replace psu=schgrd if grade==6


svyset [pweight=fakewt], psu(psu)

*-------------------------------------------------------------------------------

*ESD ANALYSIS


keep if esdrec==1


gen id=_n


gen psu=id +10000


replace psu=schgrd if conum==6 & (grade==6 | grade==8)
replace psu=schgrd if (conum==17) 


replace psu=schgrd if (conum==27) 


replace psu=schgrd if (conum==31) 


replace psu=schgrd if (conum==32 & grade==6) 


replace psu=schgrd if (conum==34 & grade==6) 


svyset [pweight=esdwt], psu(psu), strata(conum)

*if you only want to analyze one ESD then also use, designate the ESD number for "X"


keep if esdnum==x

*-------------------------------------------------------------------------------

*ANALYSIS of MULTIPLE COUNTIES using a Complete State Data Set (Census 2006)

drop if conum==5 & (grade==10 | grade==12)

drop if conum==10 & grade==12

drop if conum==30 & (grade==6 | grade==8)

drop if conum==33 & grade==12

*drops counties and grades with below 40% participation and only one participating district


keep if corec==1


gen fakewt=1


gen id=_n


gen psu=id +10000


replace psu=schgrd if (conum==17) 


replace psu=schgrd if (conum==27) 


replace psu=schgrd if (conum==31) 


replace psu=schgrd if (conum==6 & grade==6) 


replace psu=schgrd if (conum==6 & grade==8) 


replace psu=schgrd if (conum==32 & grade==6) 


replace psu=schgrd if (conum==34 & grade==6) 


svyset [pweight=fakewt], psu(psu)

*-------------------------------------------------------------------------------

*SCHOOL DISTRICT ANALYSIS - Never conduct without permission from school district


keep if distnum==x


keep if distrec==1


gen fakewt=1


svyset [pweight=fakewt]

*-------------------------------------------------------------------------------

*SCHOOL BUILDING ANALYSIS - Never conduct without permission from school district


keep if schnum==x


gen fakewt=1


svyset [pweight=fakewt]

*===============================================================================

*Analysis Examples

*===============================================================================

*Current marijuana use by grade


svy:tab d21use grade, col per se ci obs format(%3.1f)

  *this crosstab gives you one variable by grade

  *the coding after the comma helps format your Stata output

  *only include the options you need


*col for column percentages


*row for row percentages


*per if you want the point estimates in percentage format


*ci for confidence intervals 


*obs for "n"


*format(%3.1f) designates the numbers before and after the decimal

  *try to change the options and see how it changes the output


svy:tab d21use grade, row per se format(%3.2f)


svy:tab d21use grade, row se format(%3.0f)

*-------------------------------------------------------------------------------

*Current marijuana use by grade and gender


tab g05, gen(gender)

rename gender1 girl

rename gender2 boy  
*generates binary (0,1)gender subpops for use in your crosstab

svy:tab d21use grade, subpop(girl) col per se ci obs format(%3.1f)


svy:tab d21use grade, subpop(boy) col per se ci obs format(%3.1f)

  *this crosstab gives you marijuana use by grade but only among a specific group 

 *If you wanted to see if 8th grade boys use more marijuana than girls, ///

 you need to make grade your subpop


tab grade, gen(gradecat)


svy:tab d21use g05, subpop(gradecat1) col per se ci obs format(%3.1f)


svy:tab d21use g05, subpop(gradecat2) col per se ci obs format(%3.1f)


svy:tab d21use g05, subpop(gradecat3) col per se ci obs format(%3.1f)


svy:tab d21use g05, subpop(gradecat4) col per se ci obs format(%3.1f)

  *this crosstab gives you boys and girls marijuana smoke among 6th graders ///    (gradecat1), then 8th (gradecat2), etc. 

*-------------------------------------------------------------------------------

*Excess pop drinking by 5 race codes (API Asian and Pacific Islander together)


codebook g06

gen race=g06


recode race 1=4 2=5 3=3 4=2 5=4 6=1 7=. 8=.


lab def race 1"white" 2"hispanic" 3"black" 4"api" 5"indian"


lab val race race

lab var race "5 category race group"

  *creates a new variable that recodes the original into the categories you want

  *labels the new variable so it’s easy to interpret in your output


gen sodaex=h09


recode sodaex 1=0 2=0 3=1 4=1 5=1


lab var sodaex "excess soda drinking, 2 or more per day"


lab def soda 0"1 or less" 1"2 or more"


lab val sodaex soda

  *creates a new variable that recodes the number of days variable into a ///  

   collapsed binary variable

  *labels the new variable


svy:tab sodaex race, subpop(gradecat1) col per se ci obs format(%3.1f)


svy:tab sodaex race, subpop(gradecat2) col per se ci obs format(%3.1f)


svy:tab sodaex race, subpop(gradecat3) col per se ci obs format(%3.1f)


svy:tab sodaex race, subpop(gradecat4) col per se ci obs format(%3.1f)

  *this crosstab gives rates of excessive (2 or more) soda drinking by race ///  

   for 6th graders, then 8th, etc. 

*-------------------------------------------------------------------------------

*Current marijuana use by excess pop drinking


svy:tab sodaex d21use, subpop(gradecat1) row per se ci obs format(%3.1f)

svy:tab sodaex d21use, subpop(gradecat2) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(gradecat3) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(gradecat4) row per se ci obs format(%3.1f)

  *this is a crosstab of two different binary (0,1) variables by grade

*-------------------------------------------------------------------------------

*Current marijuana use by excess pop drinking among white students


gen white6=race

recode white6 1=1 2=0 3=0 4=0 5=0

replace white6=0 if (grade==8 | grade==10 | grade==12)
gen white8=race


recode white8 1=1 2=0 3=0 4=0 5=0


replace white8=0 if (grade==6 | grade==10 | grade==12)


gen white10=race


recode white10 1=1 2=0 3=0 4=0 5=0


replace white10=0 if (grade==6 | grade==8 | grade==12)


gen white12=race


recode white12 1=1 2=0 3=0 4=0 5=0


replace white12=0 if (grade==6 | grade==8 | grade==10)

  *create a new subpop that combines both grade and race


svy:tab sodaex d21use, subpop(white6) row per se ci obs format(%3.1f)

svy:tab sodaex d21use, subpop(white8) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(white10) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(white12) row per se ci obs format(%3.1f)

  *this is a crosstab of two different binary (0,1) variables by grade among /// 

   only one race

*-------------------------------------------------------------------------------

*Current marijuana use by excess pop drinking among boys


gen boy6=g05

recode boy6 1=0 2=1 

replace boy6=0 if (grade==8 | grade==10 | grade==12)
gen boy8=g05


recode boy8 1=0 2=1 


replace boy8=0 if (grade==6 | grade==10 | grade==12)


gen boy10=g05


recode boy10 1=0 2=1 


replace boy10=0 if (grade==6 | grade==8 | grade==12)


gen boy12=g05


recode boy12 1=0 2=1 


replace boy12=0 if (grade==6 | grade==8 | grade==10)

  *create a new subpop that combines both grade and gender


svy:tab sodaex d21use, subpop(boy6) row per se ci obs format(%3.1f)

svy:tab sodaex d21use, subpop(boy8) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(boy10) row per se ci obs format(%3.1f)


svy:tab sodaex d21use, subpop(boy12) row per se ci obs format(%3.1f)

  *this is a crosstab of two different binary (0,1) variables by grade among /// 

   only boys

*-------------------------------------------------------------------------------

*NOTE:  Use caution with crosstabs of variables with low prevalence or when ///

  
  you are using small subpopulations to NOT report results if there ///

  are not less than 5 observation per cell when running state analysis ///   

  or if there are less than 10 observations per cell when running ///

  sub-state analysis.
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